
 DRIVESYSTEMS M
at

.-N
r. 

60
00

0
/1

81
0

 

 DRIVESYSTEMS

 Intelligent Drivesystems, Worldwide Services

G1000
  K О Н С Т А Н Т Ы Й  Ч И С Л О  О Б О Р О Т О В 



www.nord.com G1000 A53

M1
B3/B5

M1
B3/B5

M1
B3/B5

M1
B3/B5

M2
V6/V3

M5
B6/B5II

M4
V5/V1

M3
B8/B5I

M6
B7/B5III

M2
V6/V3

M5
B6/B5II

M3
B8/B5I

M4
V5/V1

M6
B7/B5III

M2
V6/V3

M2
V6/V3

M5
B6/B5II M5

B6/B5II

M3
B8/B5I

M3
B8/B5I

M4
V5/V1 M4

V5/V1

M6
B7/B5III

M6
B7/B5III

SK 11E
SK 21E
SK 31E
SK 41E
SK 51E

SK 02
SK 12
SK 22
SK 32
SK 42
SK 52

SK 03
SK 13
SK 23
SK 33N
SK 43
SK 53

SK 62
SK 72
SK 82
SK 92
SK 102
SK 63*
SK 73*
SK 83*
SK 93*
SK 103*

*

*

info  A43



A54  G1000  www.nord.com

M1
H1

M2
H6

M5
H4

M3
H2

M4
H5

M6
H3

SK 1282
SK 2282
SK 3282
SK 4282
SK 5282
SK 0182NB*
SK 0282NB*
SK 1382NB*
*  A5

SK 2382
SK 3382
SK 4382
SK 5382

SK 6282
SK 7282
SK 8282
SK 9282
SK 10282
SK 11282
SK 6382*
SK 7382*
SK 8382*
SK 9382*
SK 10382*
SK 11382*
SK 12382*

M1
H1 M2

H6

M5
H4

M3
H2

M4
H5

M6
H3

M1
H1

M2
H6

M5
H4

M3
H2

M4
H5

M6
H3

info  A43

*



www.nord.com G1000 A55

M1
B3

M2
B6

M5
V5

M3
B8

M4
B3I

M6
V6

M1
B3

M2
B6

M5
V5

M3
B8

M6
V6

M1
B3

M2
B6

M5
V5

M3
B8

M4
B3I

M4
B3I

M6
V6

SK 92072

SK 9012.1
SK 9016.1
SK 9022.1
SK 9032.1
SK 9042.1
SK 9052.1
SK 9072.1
SK 9082.1
SK 9086.1
SK 9092.1
SK 9096.1

SK 9013.1
SK 9017.1
SK 9023.1
SK 9033.1
SK 9043.1
SK 9053.1

info  A43



A56  G1000  www.nord.com

M1
H1/B5I

M2
H4/B5

M5
H5/V1

M3
H2/B5III

M4
H3/B5II

M6
H6/V3

SK 92172
SK 92372
SK 92672
SK 92772

SK 9012.1
SK 9016.1
SK 9022.1
SK 9032.1
SK 9042.1
SK 9052.1
SK 9072.1
SK 9082.1
SK 9086.1
SK 9092.1
SK 9096.1

SK 9013.1
SK 9017.1
SK 9023.1
SK 9033.1
SK 9043.1
SK 9053.1

M1
H1/B5I

M2
H4/B5

M5
H5/V1

M4
H3/B5II

M6
H6/V3

M1
H1/B5I

M2
H4/B5

M5
H5/V1

M3
H2/B5III

M4
H3/B5II

M6
H6/V3

M3
H2/B5III

info  A43



www.nord.com G1000 A57

M1
B3

M2
B6

M5
V5

M4
B3I

M6
V6

M3
B8

M1
H1/B5I

M2
H4/B5

M5
H5/V1

M3
H2/B5III

M4
H3/B5II

M6
H6/V3

SK 02040

SK 02040

info  A43



A58  G1000  www.nord.com

M1
B3

M1
H1/B5I

M1
H1/B5I

M2
B6

M5
V5

M3
B8

M4
B3I

M6
V6

M2
H4/B5

M2
H4/B5

M5
H5/V1

M5
H5/V1

M3
H2/B5III

M3
H2/B5III

M4
H3/B5II

M4
H3/B5II

M6
H6/V3M6

H6/V3

SK 02050
SK 12063
SK 12080
SK 32100
SK 42125

SK 13050
SK 13063
SK 13080
SK 33100
SK 43125

SK 02050
SK 12063
SK 12080
SK 32100
SK 42125

SK 13050
SK 13063
SK 13080
SK 33100
SK 43125

info  A43

M1
B3

M2
B6

M5
V5

M3
B8

M4
B3I

M6
V6



www.nord.com G1000 A59

[L]

A51 M1 M2 M3 M4 M5 M6 M1 M2 M3 M4 M5 M6
A53 B3 V6 B8 V5 B6 B7 B5 V3 B5I V1 B5II B5III

SK 11E 0,25 0,50 0,55 0,40 0,35 0,35 0,30 0,35 0,50 0,30 0,40 0,40

SK 21E 0,60 1,20 1,20 1,00 1,00 1,00 0,50 1,40 1,10 0,70 0,90 0,90

SK 31E 1,10 2,70 2,20 2,30 1,70 1,70 0,80 1,30 1,65 1,10 2,00 2,00

SK 41E 1,70 2,60 3,30 2,50 2,60 2,60 1,00 2,60 2,80 1,60 3,30 3,30

SK 51E 2,20 4,40 4,70 4,00 3,40 3,40 1,80 3,50 4,10 3,00 3,80 3,80

[L]
SK 02 0,15 0,60 0,70 0,60 0,40 0,40 0,25 0,60 0,60 0,60 0,50 0,50

SK 12 0,25 0,75 0,85 0,75 0,50 0,50 0,35 0,85 0,90 0,90 0,60 0,60

SK 22 0,50 1,80 2,00 1,80 1,35 1,35 0,70 2,00 2,00 1,80 1,55 1,55

SK 32 0,90 2,50 3,00 2,90 2,00 2,00 1,30 2,90 3,30 3,10 2,40 2,40

SK 42 1,30 4,50 4,50 4,30 3,20 3,20 1,80 4,40 4,50 4,00 3,70 3,70

SK 52 2,50 7,00 6,80 6,80 5,10 5,10 3,00 6,80 6,20 7,40 5,60 5,60

[L]
SK 62 6,50 15,0 13,0 16,0 15,0 15,0 7,00 15,0 14,0 18,5 16,0 16,0

SK 72 9,00 23,0 18,0 26,0 23,0 23,0 10,0 23,0 18,5 28,0 23,0 23,0

SK 82 14,0 35,0 27,0 44,0 32,0 32,0 15,0 37,0 29,0 45,0 34,5 34,5

SK 92 25,0 73,0 47,0 76,0 52,0 52,0 26,0 73,0 47,0 78,0 52,0 52,0

SK 102 36,0 79,0 66,0 102 71,0 71,0 40,0 81,0 66,0 104 72,0 72,0

[L]
SK 03 0,30 1,00 0,80 0,90 0,60 0,60 0,50 0,80 0,90 1,10 0,80 0,80

SK 13 0,60 1,25 1,10 1,20 0,70 0,70 0.,85 1,20 1,20 1,20 0,95 0,95

SK 23 1,30 2,40 2,30 2,35 1,60 1,60 1,50 2,60 2,50 2,80 2,80 2,80

SK 33N 1,60 2,90 3,20 3,70 2,30 2,30 1,90 3,40 3,50 4,40 2,60 2,60

SK 43 3,00 5,60 5,30 6,60 3,60 3,60 3,50 5,70 5,00 6,10 4,10 4,10

SK 53 4,50 8,70 7,70 8,70 6,00 6,00 5,20 8,40 7,00 8,90 6,70 6,70

[L]
SK 63 13,0 14,5 14,5 16,0 13,0 13,0 13,5 14,0 15,5 18,0 14,0 14,0

SK 73 20,5 20,0 22,5 27,0 20,0 20,0 22,0 22,5 23,0 27,5 20,0 20,0

SK 83 30,0 31,0 34,0 37,0 33,0 33,0 31,0 34,0 35,0 40,0 34,0 34,0

SK 93 53,0 70,0 59,0 72,0 49,0 49,0 53,0 70,0 59,0 74,0 49,0 49,0

SK 103 74,0 71,0 74,0 97,0 67,0 67,0 69,0 78,0 78,0 99,0 67,0 67,0



A60  G1000  www.nord.com

[L] [L]

A51 M1 M2 M3 M4 M5 M6 A51 M1 M2 M3 M4 M5 M6
A54 H1 H6 H2 H5 H4 H3 A54 H1 H6 H2 H5 H4 H3

SK 0182NB 0,40 0,55 0,60 0,55 0,35 0,35

SK 0282NB 0,70 1,00 0,80 1,10 0,90 0,90

SK 1382NB 1,30 2,30 1,40 2,10 2,00 1,90

[L] [L]

SK 1282 0,90 1,30 0,90 1,20 0,95 0,95

SK 2282 1,65 2,40 1,90 2,00 1,80 1,80 SK 2382 1,70 2,60 1,90 3,10 1,50 1,50

SK 3282 3,15 4,10 3,24 4,10 3,15 3,15 SK 3382 4,10 4,90 3,30 5,60 3,30 3,30

SK 4282 4,70 6,10 4,75 5,40 4,70 4,70 SK 4382 5,90 6,80 4,90 8,30 4,90 4,90

SK 5282 7,50 8,80 7,50 8,80 7,20 7,20 SK 5382 12,5 12,0 6,70 14,0 8,30 8,30

[L] [L]

SK 6282 17,0 14,0 12,0 17,5 10,0 14,0 SK 6382 16,5 13,0 9,60 18,0 14,0 12,5

SK 7282 25,0 21,0 20,0 27,0 16,0 21,0 SK 7382 22,0 20,0 16,0 25,0 23,0 19,0

SK 8282 37,0 33,0 30,0 41,0 31,0 31,0 SK 8382 34,0 32,0 25,0 38,0 35,0 30,0

SK 9282 74,0 70,0 55,0 72,0 60,0 59,0 SK 9382 73,0 70,0 45,0 74,0 65,0 60,0

[L] [L]

SK 10282 90,0 90,0 40,0 90,0 60,0 82,0 SK 10382 85,0 100 73,0 100 80,0 80,0

SK 11282* 165 160 145 195 100 140 SK 11382* 160 155 140 210 155 135

SK 12382* 160 155 140 210 155 135

*  A42



www.nord.com G1000 A61

[L]
A51 M1 M2 M3 M4 M5 M6 M1 M2 M3 M4 M5 M6
A55/56 B3 B6 B8 B3I V5 V6 B5I B5 B5III B5II V1 V3

H1 H4 H2 H3 H5 H6
SK 92072 0,40 0,60 0,50 0,50 0,40 0,40 0,40 0,60 0,50 0,50 0,40 0,40
SK 92172 0,60 0,90 0,95 1,10 0,75 0,62 0,50 0,92 0,87 1,05 0,75 0,65
SK 92372 0,90 1,30 1,45 1,60 1,20 1,20 1,15 1,50 1,20 1,70 1,15 1,15
SK 92672 1,80 3,50 3,20 3,40 2,60 2,60 1,55 2,80 2,50 3,30 2,40 2,40
SK 92772 2,30 4,50 4,60 5,30 4,10 4,10 2,75 4,40 4,50 5,50 3,50 3,50

[L]
SK 9012.1 0,70 1,60 1,90 2,40 1,20 1,70 0,70 1,90 1,90 2,40 1,20 1,70
SK 9016.1 0,70 1,60 1,90 2,40 1,20 1,70 0,70 1,90 1,90 2,40 1,20 1,70
SK 9022.1 1,30 2,60 3,50 4,20 2,00 2,80 1,30 2,60 3,50 4,20 2,00 2,80
SK 9032.1 1,70 4,80 6,40 6,70 4,10 5,10 1,90 5,20 6,40 7,30 3,30 5,10
SK 9042.1 4,40 8,70 10,0 9,80 6,80 7,50 3,60 9,70 11,4 11,5 6,50 8,20
SK 9052.1 6,50 16,0 19,0 21,5 11,0 15,5 7,50 16,5 20,0 21,5 11,5 18,0
SK 9072.1 10,0 27,5 32,0 36,0 18,0 24,0 12,0 27,5 33,0 38,5 19,0 26,0
SK 9082.1 17,0 51,5 62,5 71,5 33,0 46,5 21,0 54,0 66,0 80,0 38,0 52,0
SK 9086.1 26,0 73,0 85,0 102 48,0 62,0 36,0 78,0 91,0 101 53,0 76,0
SK 9092.1 36,0 157 170 172 80,0 90,0 40,0 130 154 175 82,0 91,0
SK 9096.1 70,0 187 194 254 109 152 98 187 193 257 113 156

[L]
SK 9013.1 1,20 2,00 2,20 3,00 1,40 1,90 1,20 2,30 2,20 3,00 1,40 1,90
SK 9017.1 1,20 2,00 2,20 3,00 1,40 1,90 1,20 2,30 2,20 3,00 1,40 1,90
SK 9023.1 2,40 3,00 3,80 5,30 2,20 3,10 2,40 3,00 3,80 5,30 2,20 3,10
SK 9033.1 3,30 6,60 7,00 7,80 4,30 5,10 3,80 5,70 6,90 8,50 3,60 5,60
SK 9043.1 4,60 10,2 10,7 12,8 5,20 6,70 5,70 10,2 14,7 14,7 6,60 9,60
SK 9053.1 10,0 17,0 20,0 24,2 11,5 16,5 12,5 18,0 26,5 26,5 13,0 17,0

[L]

A51 M1 M2 M3 M4 M5 M6 M1 M2 M3 M4 M5 M6 M1 M2 M3 M4 M5 M6
A57/58 B3 B6 B8 B3I V5 V6 B5I B5 B5III B5II V1 V3 H1 H4 H2 H3 H5 H6
SK 02040 0,45 0,60 0,60 0,60 0,50 0,50 0,50 0,80 0,75 0,60 0,50 0,50 0,40 0,80 0,65 0,60 0,50 0,50
SK 02050 0,40 1,20 0,70 1,15 0,70 0,70 0,45 1,40 0,90 1,25 1,00 1,00 0,45 1,10 0,90 1,10 0,80 0,80
SK 12063 0,60 1,70 1,20 1,55 1,00 1,00 0,50 1,60 1,40 1,80 1,50 1,50 0,50 1,45 1,20 1,40 1,10 1,10
SK 12080 0,80 2,60 1,70 2,70 1,70 1,70 0,95 3,20 3,10 3,70 2,50 2,50 0,90 3,10 3,00 3,00 2,20 2,20
SK 32100 1,60 5,50 3,40 5,40 3,20 3,20 1,50 7,10 4,90 7,10 4,40 4,40 1,50 5,20 3,80 5,30 3,80 3,80
SK 42125 2,80 11,0 6,20 10,3 5,80 5,80 3,30 11,2 6,10 10,4 6,80 6,80 3,20 12,9 6,10 10,5 6,30 6,30

[L]
SK 13050 0,95 1,55 1,10 1,45 0,95 0,95 0,90 1,80 1,15 1,75 1,25 1,25 0,85 1,75 1,25 1,35 1,15 1,15
SK 13063 0,85 2,30 1,60 2,00 1,25 1,25 0,95 2,10 1,65 2,15 1,75 1,75 0,90 2,10 1,55 2,10 1,45 1,45
SK 13080 1,70 3,20 2,10 3,40 1,95 1,95 1,40 4,20 3,35 4,20 2,75 2,75 1,70 3,75 3,60 3,60 2,55 2,55
SK 33100 2,20 7,60 4,00 6,30 3,70 3,70 2,30 7,60 5,50 7,80 4,85 4,85 2,10 6,10 4,80 6,30 4,20 4,20
SK 43125 7,80 14,0 7,20 13,5 6,70 6,70 4,30 12,9 7,10 12,1 7,70 7,70 4,80 13,5 7,40 14,5 8,00 8,00



A62  G1000  www.nord.com

M2max
[Nm]

M2max
[Nm]

M2max
[Nm]

SK 02 99 SK 03 110

SK 11E 58 SK 12 184 SK 13 194

SK 21E 77 SK 22 374 SK 23 340

SK 31E 185 SK 32 710 SK 33N 672

SK 41E 290 SK 42 1244 SK 43 1289

SK 51E 492 SK 52 2024 SK 53 2232

M2max

M2max
[Nm]

M2max
[Nm]

M2max
[Nm]

SK 0182NB 116

SK 0282NB 165

SK 1382NB 370

SK 1282 296

SK 2282 563 SK 2382 563

SK 3282 1015 SK 3382 1039

SK 4282 2000 SK 4382 2077

SK 5282 3235 SK 5382 3200

M2max
[Nm]

M2max
[Nm]

SK 6282 4537 SK 6382 6000

SK 7282 6473 SK 7382 8300

SK 8282 10618 SK 8382 13200

SK 9282 17930 SK 9382 25400

M2max
[Nm]

M2max
[Nm]

SK 62 3120 SK 63 3700

SK 72 4708 SK 73 5650

SK 82 7246 SK 83 9180

SK 92 10775 SK 93 14000

SK 102 17367 SK 103 23160

info  B40 - B60

M2max
[Nm]

M2max
[Nm]

SK 10282 32000 SK 10382 37200

SK 11282 42000 SK 11382 69000

SK 12382 90000

info  C46 - C66



www.nord.com G1000 A63

M2max

M2max
[Nm]

M2max
[Nm]

M2max
[Nm]

SK 92072 90 SK 9012.1 400 SK 9013.1 400

SK 92172 120 SK 9016.1 610 SK 9017.1 610

SK 92372 230 SK 9022.1 860 SK 9023.1 860

SK 92672 380 SK 9032.1 1550 SK 9033.1 1550

SK 92772 660 SK 9042.1 2800 SK 9043.1 2800

SK 9052.1 4800 SK 9053.1 4800

SK 9072.1 8500

SK 9082.1 13000

SK 9086.1 20000

SK 9092.1 32000

SK 9096.1 50000

M2max
[Nm]

M2max
[Nm]

SK 02040 100

SK 02050 185 SK 13050 195

SK 12063 360 SK 13063 380

SK 12080 710 SK 13080 770

SK 32100 1420 SK 33100 1590

SK 42125 2850 SK 43125 3090

info  D42 - D55

info  E18 - E29



A64  G1000  www.nord.com

FR

y z c cVL f d l
[mm] [mm] [Nmm] [Nmm] [mm] [mm] [mm]

SK 11E 65,0 85,0 -- -- 39,0 20 40

SK 21E 77,0 102,0 -- -- 50,0 25 50

SK 31E 104,5 134,5 -- -- 69,5 30 60

SK 41E 111,5 146,5 -- -- 67,0 35 70

SK 51E 125,0 165,0 -- -- 74,0 40 80

SK 02, SK 03 63,8 83,8 0,06 x 106 0,10 x 106 11,8 20 40

SK 12, SK 13 73,5 98,5 0,12 x 106 0,18 x 106 14,0 25 50

SK 22, SK 23 86,0 116,0 0,19 x 106 0,30 x 106 14,0 30 60

SK 32, SK 33N 112,5 152,5 0,39 x 106 0,60 x 106 30,0 40 80

SK 42, SK 43 123,0 168,0 0,42 x 106 0,73 x 106 30,0 45 90

SK 52, SK 53 149,5 204,5 0,92 x 106 1,56 x 106 35,0 55 110

SK 62, SK 63 191,0 256,0 1,46 x 106 2,46 x 106 35,0 65 130

SK 72, SK 73 212,0 282,0 2,13 x 106 4,45 x 106 37,0 75 140

SK 82, SK 83 248,5 333,5 4,24 x 106 6,89 x 106 38,0 90 170

SK 92, SK 93 278,0 383,0 8,07 x 106 12,50 x 106 41,0 110 210

SK 102, SK 103 323,5 448,5 14,86 x 106 22,84 x 106 46,0 130 250

d
l

F

d
l

RF

x

x

R

RF

d

l

x

y z c cVL f d l
[mm] [mm] [Nmm] [Nmm] [mm] [mm] [mm]

SK 0182NB 80,0 104,5 0,13 x 106 0,18 x 106 0 25 50

SK 0282NB 112,0 138,0 0,12 x 106 0,17 x 106 0 25 50

SK 1382NB 145,0 176,0 0,16 x 106 0,26 x 106 0 30 60

SK 1282 95,1 125,1 0,18 x 106 0,27 x 106 0 30 60

SK 2282, SK 2382 109,6 144,6 0,27 x 106 0,44 x 106 0 35 70

SK 3282, SK 3382 135,6 180,6 0,61 x 106 0,94 x 106 0 45 90

SK 4282, SK 4382 158,1 213,1 0,90 x 106 1,48 x 106 0 55 110

SK 5282, SK 5382 179,6 244,6 1,63 x 106 2,60 x 106 0 65 130

SK 6282, SK 6382 235,6 305,6 1,82 x 106 3,42 x 106 0 75 140

SK 7282, SK 7382 253,0 338,0 3,81 x 106 6,19 x 106 0 90 170

SK 8282, SK 8382 300,0 405,0 8,31 x 106 12,79 x 106 0 110 210

SK 9282, SK 9382 353,6 478,6 16,32 x 106 24,92 x 106 0 140 250

SK 10282, SK 10382 425,0 575,0 -- 18,95 x 106 0 160 300

SK 11282, SK 11382 453,0 603,0 -- 19,15 x 106 0 180 300

SK 12382 453,0 603,0 -- 20,30 x 106 0 180 300
 



www.nord.com G1000 A65

d
l

RFx

d
l

RF
x y z c cVL f d l

[mm] [mm] [Nmm] [Nmm] [mm] [mm] [mm]
SK 02040 99,5 115,5 0,07 x 106 -- 0 20 40

SK 02050, SK 13050 104,0 129,0 0,12 x 106 0,19 x 106 0 25 50

SK 12063, SK 13063 118,5 148,5 0,19 x 106 0,30 x 106 0 30 60

SK 12080, SK 13080 150,0 185,0 0,21 x 106 0,41 x 106 0 35 70

SK 32100, SK 33100 179,0 224,0 0,51 x 106 0,94 x 106 0 45 90

SK 42125, SK 43125 233,5 293,5 1,33 x 106 2,19 x 106 0 60 120

FR

y z c cVL f d l
[mm] [mm] [Nmm] [Nmm] [mm] [mm] [mm]

SK 92072 95,0 115,0 0,06 x 106 -- 0 20 40

SK 92712 111,0 131,0 0,05 x 106 -- 0 20 40

SK 92372 128,0 153,0 0,08 x 106 -- 0 25 50

SK 92672 136,0 166,0 0,12 x 106 -- 0 30 60

SK 9012.1, SK 9013.1 111,0 141,0 0,14 x 106 0,24 x 106 0 30 60

SK 9016.1, SK 9017.1 111,0 146,0 0,25 x 106 0,41 x 106 0 35 70

SK 92772 153,0 188,0 0,16 x 106 -- 0 35 70

SK 9022.1, SK 9023.1 144,0 179,0 0,17 x 106 0,30 x 106 0 35 70

SK 9032.1, SK 9033.1 171,5 216,5 0,29 x 106 0,58 x 106 0 45 90

SK 9042.1, SK 9043.1 181,0 241,0 1,22 x 106 1,99 x 106 0 60 120

SK 9052.1, SK 9053.1 237,0 307,0 1,75 x 106 3,08 x 106 0 70 140

SK 9072.1 281,0 366,0 4,49 x 106 7,05 x 106 0 90 170

SK 9082.1 326,75 431,76 8,36 x 106 12,82 x 106 0 110 210

SK 9086.1 422,0 527,0 9,56 x 106 15,60 x 106 0 120 210

SK 9092.1 515,0 640,0 14,40 x 106 24,61 x 106 0 140 250

SK 9096.1 550 710 48,73 x 106 -- 0 140 320



A66  G1000  www.nord.com

FA1 / FR1

W - Adapter 

SK 0182NB
SK 0282NB

SK 92072
SK 92172

P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50
FR1 [kN]
0,55 0,54 0,53 0,50 0,47 0,44 0,37 0,30
FA1 [kN]
1,2 1,1 1,0 0,89 0,77 0,58 0,35 0,29

SK 1382NB SK 92372 SK 02040 P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50 2,20 3,00
FR1 [kN]
0,85 0,82 0,78 0,75 0,72 0,70 0,61 0,43 0,42 0,23
FA1 [kN]
1,2 1,1 1,0 0,89 0,77 0,58 0,35 0,29 0,20 0,15

SK 92672 P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50 2,20 3,00 4,00 5,50 7,50 9,20
FR1 [kN]
2,13 2,1 2,1 2,1 2,0 1,9 1,8 1,8 1,7 1,6 1,1 1,0 1,0 0,74
FA1 [kN]
2,9 2,9 2,8 2,6 2,5 2,3 2,1 2,0 1,7 1,5 0,98 0,66 0,45 0,28

SK 92772 P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50 2,20 3,00 4,00 5,50 7,50 9,20
FR1 [kN]
2,3 2,2 2,1 2,1 2,2 2,0 1,9 1,9 1,8 1,8 1,6 1,5 1,3 1,0

FA1 [kN]
3,7 3,5 3,2 3,1 3,0 2,8 2,6 2,4 2,2 2,0 1,9 1,8 1,5 1,1

FR1  FA1 = 0
FA1  FR1 = 0

  A9



www.nord.com G1000 A67

FA1 / FR1

SK 11E
SK 02
SK 12
SK 13
SK 23
SK 33N

SK 1282
SK 2382
SK 3382

SK 9012.1
SK 9016.1
SK 9022.1
SK 9013.1
SK 9017.1
SK 9023.1
SK 9033.1

SK 02050
SK 12063
SK 12080
SK 13050
SK 13063
SK 13080
SK 33100

P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50 2,20 3,00
FR1 [kN]
0,85 0,82 0,78 0,75 0,72 0,70 0,61 0,43 0,42 0,23
FA1 [kN]
1,2 1,1 1,0 0,89 0,77 0,58 0,35 0,29 0,20 0,15

SK 21E
SK 31E
SK 22
SK 32
SK 43
SK 53

SK 2282
SK 3282
SK 4382
SK 5382

SK 9032.1
SK 9043.1
SK 9053.1

SK 32100
SK 43125

P1 [kW]
0,12 0,18 0,25 0,37 0,55 0,75 1,10 1,50 2,20 3,00 4,00 5,50 7,50
FR1 [kN]
2,1 2,1 2,1 2,1 2,0 1,9 1,8 1,8 1,7 1,6 1,1 1,0 1,0

FA1 [kN]
2,9 2,9 2,8 2,6 2,5 2,3 2,1 2,0 1,7 1,5 0,98 0,65 0,27

SK 41E
SK 51E
SK 42
SK 52
SK 63

SK 4282
SK 5282
SK 6382

SK 9042.1
SK 9052.1

SK 42125 P1 [kW]
0,37 0,55 0,75 1,10 1,50 2,20 3,00 4,00 5,50 7,50 9,20 11,0
FR1 [kN]
2,1 2,8 2,4 2,7 2,6 2,4 2,3 2,1 1,8 1,3 0,98 0,47

FA1 [kN]
4,1 3,9 3,8 3,5 3,3 2,7 2,5 2,3 1,6 1,4 1,0 0,59

SK 62
SK 72
SK 73

SK 83
SK 93
SK 63*

SK 6282
SK 7282
SK 6382*
SK 7382
SK 8382
SK 9382
SK 9382*

SK 9072.1 P1 [kW]
0,75 1,10 1,50 2,20 3,00 4,00 5,50 7,50 9,20 11,0 15,0 18,5 22,0 30,0 37,0
FR1 [kN]
4,4 4,3 4,2 4,1 3,9 3,7 3,4 3,4 3,1 2,7 2,7 2,3 1,8 1,2 0,87

FA1 [kN]
6,1 5,9 5,8 5,5 5,2 4,9 4,4 4,3 3,9 3,3 3,3 2,7 2,2 1,1 0,74

SK 82
SK 92
SK 102
SK 83*
SK 93*
SK 103

SK 8282
SK 9282
SK 10382
SK 8382*
SK 9382*

SK 9082.1
SK 9086.1
SK 9092.1
SK 9096.1

P1 [kW]
3,00 4,00 5,50 7,50 9,20 11,0 15,0 18,5 22,0 30,0 37,0 45,0 55,0 75,0 90,0

FR1 [kN]
11,0 10,9 10,8 10,4 10,1 9,9 9,5 9,3 9,3 8,4 8,1 8,3 7,4 4,6 5,2

FA1 [kN]
4,3 4,2 4,1 3,8 3,6 3,4 3,1 3,0 2,9 2,3 2,0 2,2 1,5 0,78 0,24

SK 10282
SK 10382
SK 11282
SK 11382
SK 12382

P1 [kW]
11,0 15,0 18,5 22,0 30,0 37,0 45,0 55,0 75,0 90,0 110 132 160 200

FR1 [kN]
17,3 17,1 16,9 11,7 16,1 15,7 15,2 14,5 13,2 12,1 10,7 9,0 6,9 3,6

FA1 [kN]
13,4 13,7 13,4 13,1 12,5 12,0 11,7 11,0 9,6 8,5 7,2 6,8 5,0 2,6

FR1  FA1 = 0
FA1  FR1 = 0

W - Adapter 

  A9

* W - Adapter VL



A68  G1000  www.nord.com

FR1

W - Adapter y z c d1 l1
[mm] [mm] [Nmm] [mm] [mm]

SK 0182NB
SK 0282NB

SK 92072
SK 92172

58,5 78,5 0,027 x 106 14 40

SK 1382NB SK 72372 SK 02040 58,5 78,5 0,037 x 106 16 40

SK 92672 59,5 79,5 0,032 x 106 19 40
SK 92772 69,0 94,0 0,109 x 106 24 50

SK 03
SK 11E
SK 02
SK 12

SK 13

SK 23
SK 33N 

SK 1282

SK 2382
SK 3382

SK 9012.1
SK 9016.1
SK 9013.1
SK 9017.1
SK 9022.1
SK 9023.1
SK 9033.1

SK 02050
SK 12063
SK 12080
SK 13050
SK 13063
SK 13080

SK 33100

70,0 90,0 3,64 x 104 16 40

SK 21E
SK 31E
SK 22
SK 32
SK 43
SK 53

SK 2282
SK 3282
SK 4382
SK 5382

SK 9032.1
SK 9043.1
SK 9053.1

SK 32100
SK 43125

96,5 121,5 1,07 x 105 24 50

SK 41E
SK 51E
SK 42
SK 52
SK 63

SK 4282
SK 5282
SK 6382

SK 9042.1
SK 9052.1

SK 42125

110,5 150,5 4,70 x 105 38 80

SK 62
SK 72
SK 73
SK 83
SK 93
SK 63*

SK 6282
SK 7282
SK 7382
SK 8382
SK 9382
SK 6382*

SK 9072.1 149,5 204,5 4,60 x 105 42 110

SK 82
SK 92
SK 103
SK 83*
SK 93*

SK 8282
SK 9282
SK 8382*
SK 9382*

SK 9082.1
SK 9086.1
SK 9092.1

207,5 277,5 1,82 x 106 65 140

SK 9096.1 299,0 369,0 -- 70 140
SK 102 224,5 294,5 1,66 x 106 65 140

SK 10282
SK 10382
SK 11282
SK 11382
SK 12382

413,0 482,0 -- 70 140

* W-Adapter VL   A9



www.nord.com G1000 A69

WO-
WV





a
a1

e
o

s d
l

t
u

v
w

x
T

SK 11E W0 SK 02 W0
SK 12 W0

SK 03 W0
SK 13 W0
SK 23 W0
SK 33N W0

SK ../02 W0
SK ../12 W0
SK ../23 W0

2 90
--

75
70,5

M5 x 13 14
38,5

16
5

5
30

2
M5

SK 11E WII SK 02 WII
SK 12 WII

SK 03 WII
SK 13 WII
SK 23 WII
SK 33N WII

SK ../02 WII
SK ../12 WII
SK ../23 WII RLS

2 120
--

100
74,0

M8 x 13 16
40

18
5

4
32

8
M5

SK 21E WIII
SK 31E WIII

SK 22 WIII
SK 32 WIII

SK 43 WIII
SK 53 WIII

SK ../22 WIII
SK ../32 WIII
SK ../43 WIII
SK ../53 WIII

2 120
--

100
113,5

M8 x 13 16
40

18
5

4
32

8
M5

SK 11E WIII SK 02 WIII
SK 12 WIII

SK 03 WIII
SK 13 WIII
SK 23 WIII
SK 33N WIII

SK ../02 WIII
SK ../12 WIII
SK ../23 WIII

2 150
--

125
119,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 21E WI
SK 31E WI

SK 22 WI
SK 32 WI

SK 43 WI
SK 53 WI

SK ../22 WI
SK ../32 WI
SK ../43 WI
SK ../53 WI

1 180
140

125
113,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 41E WIV
SK 51E WIV

SK 42 WIV
SK 52 WIV

SK 63 WIV SK ../42 WIV
SK ../52 WIV

1 180
140

125
124

M8 x 13 24
50

27
8

5
40

8
M8

SK 21E WII
SK 31E WII

SK 22 WII
SK 32 WII

SK 43 WII
SK 53 WII

SK ../22 WII
SK ../32 WII
SK ../43 WII
SK ../53 WII

RLS
1 180

140
150

113,5
M10 x 18 28

60
31
8

5
50

9
M10

SK 41E WI
SK 51E WI

SK 42 WI
SK 52 WI

SK 63 WI SK ../42 WI
SK ../52 WI

1 180
140

150
124

M10 x 16 28
60

31
8

5
50

9
M10

SK 62 W0
SK 72 W0

SK 73 W0
SK 83 W0
SK 93 W0

2 180
--

150
124

M10 x 18 28
60

31
8

5
50

9
M10

SK 41E WII
SK 51E WII

SK 42 WII
SK 52 WII

SK 63 WII SK ../42 WII
SK ../52 WII RLS 1 290

250
215
125

M12 x 20 38
80

41
10

5
70

8
M12

SK 62 WI
SK 72 WI
SK 82 W0

SK 73 WI
SK 83 W
SK 93 WII
SK 103 W0

1 290
250

215
170

M12 x 25 38
80

41
10

5
70

8
M12

SK 41E WIII
SK 51E WIII

SK 42 WIII
SK 52 WIII

SK 63 WIII SK ../42 WIII
SK ../52 WIII

1 290
250

250
125

M16 x 25 38
80

41
10

5
70

8
M12

SK 62 WII
SK 72 WII
SK 82 WII

SK 73 WII
SK 83 WI
SK 93 WIII
SK 103 WII

1 290
250

250
170

M16 x 25 38
80

41
10

5
70

8
M12

RLS  A31 / A32



A70  G1000  www.nord.com

WO-
WV





a
a1

e
o

s d
l

t
u

v
w

x
T

  SK 62 WIII
SK 72 WIII

SK 73 WIII
SK 83 WIII
SK 93 WIII

RLS
1 290

250
250
170

M16 x 25 42
110

45
12

10
90

8
M16

SK 62 WIV
SK 72 WIV
SK 82 WV
SK 92 WV

SK 73 WIV
SK 83 WIV
SK 93 WIV
SK 103 WIV

1 350
300

300
252

M20 x 30 65
140

69
18

15
110

8
M20

SK 82 WI
SK 92 WI
SK 102 WI

SK 103 WI 1 350
300

250
236

M16 x 25 42
110

45
12

10
90

8
M16

SK 82 WIII
SK 92 WIII
SK 102 WIII

SK 103 WIII
RLS

1 350
300

300
236

M20 x 30 65
140

69
18

15
110

8
M20

RLS  A31 / A32



www.nord.com G1000 A71

WO-
WV





a
a1

e
o

s d
l

t
u

v
w

x
T

SK 0182NB W0
SK 0282NB W0

SK 1382NB W0 2 120
--

75
61,5

M5 x 11 14
40

16
5

5
30

8
M5

SK 0182NB WII
SK 0282NB WII

SK 1382NB WII 2 120
--

100
61,5

M8 x 11 16
40

18
5

4
32

8
M5

SK 1282 W0 SK 2382 W0
SK 3382 W0

SK ../02 W0
SK ../12 W0

2 90
--

75
70,5

M5 x 13 14
38,5

16
5

5
30

2
M5

SK 1282 WII SK 2382 WII
SK 3382 WII

SK ../02 WII
SK ../12 WII

RLS 2 120
--

100
74

M8 x 13 16
40

18
5

4
32

8
M5

SK 2282 WIII
SK 3282 WIII

SK 4382 WIII
SK 5382 WIII

SK ../22 WII
SK ../32 WII

2 120
--

100
113,5

M8 x 13 16
40

18
5

4
32

8
M5

SK 1282 WII SK 2382 WIII
SK 3382 WIII

SK ../02 WIII
SK ../12 WIII

2 150
--

125
119,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 2282 WI
SK 3282 WI

SK 4382 WI
SK 5382 WI

SK ../22 WI
SK ../32 WI

1 180
140

125
113,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 4282 WIV
SK 5282 WIV

SK 6382 WIV SK ../42 WIV
SK ../52 WIV

1 180
140

125
124

M8 x 13 24
50

27
8

5
40

8
M8

SK 2282 WII
SK 3282 WII

SK 4382 WII
SK 5382 WII

SK ../22 WII
SK ../32 WII

RLS 1 180
140

150
113,5

M10 x 18 28
60

31
8

5
50

9
M10

SK 4282 WI
SK 5282 WI

SK 6382 WI SK ../42 WI
SK ../52 WI

1 180
140

150
124

M10 x 16 28
60

31
8

5
50

9
M10

SK 6282 W0
SK 7282 W0

SK 7382 W0
SK 8382 W0
SK 9382 W0

2 180
--

150
124

M10 x 18 28
60

31
8

5
50

9
M10

SK 4282 WII
SK 5282 WII

SK 6382 WII SK ../42 WII
SK ../52 WII

RLS 1 290
250

215
125

M12 x 20 38
80

41
10

5
70

8
M12

SK 6282 WI
SK 7282 WI

SK 7382 WI
SK 8382 WI
SK 9382 WI

1 290
250

215
170

M12 x 25 38
80

41
10

5
70

8
M12

SK 4282 WIII
SK 5282 WIII

SK 6382 WIII SK ../42 WIII
SK ../52 WIII

1 290
250

250
125

M16 x 25 38
80

41
10

5
70

8
M12

SK 6282 WII
SK 7282 WII
SK 8282 WII

SK 7382 WII
SK 8382 WII
SK 9382 WII

SK 10382 WII
SK 11382 WII

1 290
250

250
170

M16 x 25 38
80

41
10

5
70

8
M12

SK 6282 WIII
SK 7282 WIII

SK 7382 WIII
SK 8382 WIII
SK 9382 WIII

RLS 1 290
250

250
170

M16 x 25 42
110

45
12

10
90

8
M16

SK 6282 WIV
SK 7282 WIV
SK 8282 WV

SK 7382 WIV
SK 8382 WIV
SK 9382 WIV
SK 10382 WV

1 350
300

300
252

M20 x 30 65
140

69
18

15
11
0

8
M20

SK 8282 WI
SK 9282 WI

SK 10382 WI
SK 11382 WI
SK 12382 WI

1 350
300

250
236

M16 x 25 42
110

45
12

10
90

8
M16

SK 8282 WIII
SK 9282 WIII

SK 11382 WIII
SK 10382 WIII
SK 12382 WIII

RLS 1 350
300

250
236

M20 x 30 65
140

69
18

15
11
0

8
M20

SK 8282 WIV
SK 9282 WIV

SK 11382 WIV
SK 10382 WIV
SK 12382 WIV

3 550
--

500
245

 17,5 65
140

69
18

15
11
0

12
M20

RLS  A31 / A32



A72  G1000  www.nord.com





a
a1

e
o

s d
l

t
u

v
w

x
T

SK 92072 W0
SK 92172 W0
SK 92372 W0
SK 92672 W0
SK 92772 W0

2 120
--

75
61,5

M5 x 11 14
40

16
5

5
30

56
M5

SK 92072 WII
SK 92172 WII
SK 92372 WII
SK 92672 WII
SK 92772 WII

2 120
--

100
61,5

M8 x 11 16
40

18
5

4
32

8
M5

SK 9012.1 W0
SK 9016.1 W0
SK 9022.1 W0

SK 9013.1 W0
SK 9017.1 W0
SK 9023.1 W0
SK 9033.1 W0

2 90
--

75
70,5

M5 x 13 14
38,5

16
5

5
30

2
M5

SK 9012.1 WII
SK 9016.1 WII
SK 9022.1 WII

SK 9013.1 WII
SK 9017.1 WII
SK 9023.1 WII
SK 9033.1 WII

RLS 2 120
--

100
74

M8 x 13 16
40

18
5

4
32

8
M5

SK 9032.1 WIII SK 9043.1 WIII
SK 9053.1 WIII

SK ../32 WIII 2 120
--

100
113,5

M8 x 13 16
40

15
8

4
32

8
M5

SK 9012.1 WIII
SK 9016.1 WIII
SK 9022.1 WIII

SK 9013.1 WIII
SK 9017.1 WIII
SK 9023.1 WIII
SK 9033.1 WIII

2 150
--

125
119,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 9032.1 WI SK 9043.1 WI
SK 9053.1 WI

SK ../32 WI 1 180
140

125
113,5

M8 x 13 24
50

27
8

5
40

8
M8

SK 9042.1 WIV
SK 9052.1 WIV

SK ../42 WIV
SK ../52 WIV

1 180
140

125
124

M8 x 13 24
50

27
8

5
40

8
M8

SK 9032.1 WII SK 9043.1 WII
SK 9053.1 WII

SK ../32 WII RLS 1 180
140

150
113,5

M10 x 18 28
60

31
8

5
50

9
M10

SK 9042.1 WI
SK 9052.1 WI

SK ../42 WI
SK ../52 WI

1 180
140

150
124

M10 x 16 28
60

31
8

5
50

9
M10

SK 9072.1 W0 2 180
--

150
124

M10 x 18 28
60

31
8

5
50

9
M10

SK 9042.1 WII
SK 9052.1 WII

SK ../42 WII
SK ../52 WII

RLS 1 290
250

215
125

M12 x 20 38
80

41
10

5
70

8
M12

SK 9072.1 WI 1 290
250

215
170

M12 x 25 38
80

41
10

5
70

8
M12

SK 9042.1 WIII
SK 9052.1 WIII

SK ../42 WIII
SK ../52 WIII

1 290
250

250
125

M16 x 25 38
80

41
10

5
70

8
M12

SK 9072.1 WII
SK 9082.1 WII
SK 9086.1 WII

1 290
250

250
170

M16 x 25 38
80

41
10

5
70

8
M12

SK 9072.1 WIII RLS 1 290
250

250
170

M16 x 25 42
110

45
12

10
90

8
M16

SK 9072.1 WIV
SK 9082.1 WV
SK 9086.1 WV

1 350
300

300
252

M20 x 30 65
140

69
18

15
110

8
M20

SK 9082.1 WI
SK 9086.1 WI
SK 9092.1 WI
SK 9096.1 WI

1 350
300

250
236

M16 x 25 42
110

45
12

10
90

8
M16

SK 9082.1 WIII
SK 9086.1 WIII
SK 9092.1 WIII
SK 9096.1 WIII

RLS 1 350
300

300
236

M20 x 30 65
140

69
18

15
110

8
M20

SK 9082.1 WIV
SK 9086.1 WIV
SK 9092.1 WIV
SK 9096.1 WIV

3 550
--

500
245

17,5 65
140

69
18

15
110

12
M20

WO-
WV

RLS  A31 / A32



www.nord.com G1000 A73

WO-
WV
WO-
WV





a a1 e o s d
l

t
u

v
w

x
T

SK 02040 W0 2 120 -- 75 61,5 M5 x 11 14
40

16
5

5
30

8
M5

SK 02040 WII 2 120 -- 100 61,5 M8 x 11 16
40

18
5

4
32

8
M5

SK 02050 W0
SK 12063 W0
SK 12080 W0

SK 13050 W0
SK 13063 W0
SK 13080 W0
SK 33100 W0

2 90 -- 75 70,5 M5 x 13 14

38,5

16

5

5

30

2

M5

SK 02050 WII
SK 12063 WII
SK 12080 WII

SK 13050 WII
SK 13063 WII
SK 13080 WII
SK 33100 WII

RLS 2 120 -- 100 74 M8 x 13 16

40

18

5

4

32

8

M5

SK 32100 WIII SK 43125 WIII 2 120 -- 100 113,5 M8 x 13 16
40

18
5

4
32

8
M5

SK 02050 WIII
SK 12063 WIII
SK 12080 WIII

SK 13050 WIII
SK 13063 WIII
SK 13080 WIII
SK 33100 WIII

2 150 -- 125 119,5 M8 x 13 24

50

27

8

5

40

8

M8

SK 32100 WI SK 43125 WI 1 180 140 125 113,5 M8 x 13 24
50

27
8

5
40

8
M8

SK 42125 WIV 1 180 140 125 124 M8 x 13 24
50

27
8

5
40

8
M8

SK 32100 WII SK 43125 WII RLS 1 180 140 150 113,5 M10 x 8 28
60

31
8

5
50

9
M10

SK 42125 WI 1 180 140 150 124 M10 x 16 28
60

31
8

5
50

9
M10

SK 42125 WII RLS 1 290 250 215 125 M12 x 20 38
80

41
10

5
70

8
M12

SK 42125 WIII 1 290 250 250 125 M16 x 25 38
80

41
10

5
70

8
M12

RLS  A31 / A32



 DRIVESYSTEMS M
at

.-N
r. 

60
00

0
/1

81
0

 

 DRIVESYSTEMS

 Intelligent Drivesystems, Worldwide Services

G1000
  K О Н С Т А Н Т Ы Й  Ч И С Л О  О Б О Р О Т О В 




